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Question Number : 1 Question Id : 87827042816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following feature is correct for counter current extraction of plant material?

1. Can be used for only lab scale and wide array of extractives possible
2. Can be used for large scale and only few extractives are possible
3. Can be used for large scale and wide array of extractives possible
4. Can be used for small scale and only few extractives are possible

Options :

878270168141. 1
878270168142. 2
878270168143. 3

878270168144. 4

Question Number : 1 Question Id : 87827042816 Question Type : MCl(
collegedunia:

Question Mandatory : No Calculator : None Response Time : N.A Thi
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270168141. 1
878270168142. 2
878270168143. 3

878270168144. 4

Question Number : 2 Question Id : 87827042817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The principle of Pulse height proportionality to particle volume is used in:

- Fisher apparatus

- Coulter counter

- Sedimentograph

- Erweka multimodal instrument

A I

Options :

878270168145. 1
878270168146. 2
878270168147. 3

878270168148. 4

Question Number : 2 Question Id : 87827042817 Question Type : MCl( gcouegedun'aé
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270168145. 1
878270168146. 2
878270168147.3

878270168148. 4

Question Number : 3 Question Id : 87827042818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

About Theobroma oil polymorph choose the correct statement

1. Gamma form has 18°C melting point

2. Beta form has 34-35%C melting point

3. Beta prime form has 28 - 31%C melting point
4. Alpha form has 24°C melting point

Options :
878270168149. 1
878270168150. 2

878270168151. 3

878270168152. 4
collegedunia:
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Question Number : 3 Question Id : 87827042818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FOiEmT dc 989 & vy ¥ el &y 4

171 &4 ®T Ta11@ 18°C g1

2. de1 ¥Y B a1 34-35°C §

3. die1 UrgH ¥4 H TaH1® 28-31°C B
4. 3] ¥4 § TeHID 24°C B

Options:

878270168149. 1
878270168150. 2
878270168151. 3

878270168152. 4

Question Number : 4 Question Id : 87827042819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Globular protein are believed to maintain their:

_ Ball like structure due to hydrophobic interaction

~ Ball like structure due to hydrophyllic interaction

- Sheet like structure due to hydrophaobic interaction

_ Parellal sheet like structure due to hydrophobic interaction

L

Options :
878270168153. 1
878270168154. 2

878270168155. 3
878270168156. 4 gcollegedunias
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Question Number : 4 Question Id : 87827042819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168153. 1
878270168154. 2
878270168155. 3

878270168156. 4

Question Number : 5 Question Id : 87827042820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yellow fever vaccine is a:

1. Univalent preparation made by 17D strain of Yellow fever virus
2. Polyvalent preparation made by 17D strain of Yellow fever virus
3. Univalent preparation made by 170 D strain of Yellow fever virus
4 Polyvalent preparation made by 170 D strain of Yellow fever virus

Options :

878270168157. 1
878270168158. 2
878270168159. 3

878270168160. 4 gcollegedunias
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Question Number : 5 Question Id : 87827042820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168157. 1
878270168158. 2
878270168159. 3

878270168160. 4

Question Number : 6 Question Id : 87827042821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Miller Prickett tube:

1. Contains Oxidizing agent and used in counting of aerobes

2. Contains Vitamin B12 and used in counting of specific bacteria
3. Contains reducing agent and used in counting of anaerobes

4 Contains Vit B2 and used in counting of Spirochetes

Options :

878270168161. 1
878270168162. 2
878270168163. 3

878270168164. 4 gcollegedunias
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Question Number : 6 Question Id : 87827042821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168161. 1
878270168162. 2
878270168163. 3

878270168164. 4

Question Number : 7 Question Id : 87827042822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Elutrition depends upon:

1. Movement of fluid against the direction of sedimentation of particles

2. Movement of fluid in the direction of sedimentation of particles

3. Movement of fluid against the horizontal direction of sedimentation of particles
4 |t is possible in all direction of fluid flow

Options :
878270168165. 1
878270168166. 2

878270168167. 3
878270168168. 4 gcollegedunias
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Question Number : 7 Question Id : 87827042822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168165. 1
878270168166. 2
878270168167. 3

878270168168. 4

Question Number : 8 Question Id : 87827042823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bound moisture of a solid is

1. Liquid that exerts vapour pressure equal to than of free liquid

2. Liquid that exerts a pressure less than that of pure liquid

3. Liquid that exerts a pressure more than that of a pure liquid

4 Liquid that exerts pressure equal to the ratio of vapour pressure of pure liquid to the vapour pressure of its
supersaturated solution

Options :
878270168169. 1
878270168170. 2
878270168171. 3
gcollegedunias

878270168172. 4
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Question Number : 8 Question Id : 87827042823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168169. 1
878270168170. 2
878270168171. 3

878270168172. 4

Question Number : 9 Question Id : 87827042824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Compound Aluminium paste BPC contains:

1. Aluminium hydroxide powder and zinc oxide

2. Aluminium powder and zinc oxide

3. Aluminium powder, Liquid paraffin and zinc oxide
4. Aluminium powder, soft paraffin and zinc oxide

Options :
878270168173. 1
878270168174. 2

878270168175. 3 gcollegedunias
878270168176. 4 -



Question Number : 9 Question Id : 87827042824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168173. 1
878270168174. 2
878270168175. 3

878270168176. 4

Question Number : 10 Question Id : 87827042825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bulk laxative may cause:

1. Flatulence

2. Gripping pain

3. Leakage from rectum

4 Interfere with salt and water balance

Options :
878270168177. 1
878270168178. 2

878270168179. 3 gcollegedunias
878270168180. 4 b



Question Number : 10 Question Id : 87827042825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168177. 1
878270168178. 2
878270168179. 3

878270168180. 4

Question Number : 11 Question Id : 87827042826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stokes Einstein equation describing diffusivity (D) and viscosity (n) is

1. D=(k.T)/(6.7.5.7)
2 D=k.x.T{{62.7)
3 D=k r.T/(6nn)
4 D=k.r. [(6.n.7n.T)

Options :
878270168181. 1
878270168182. 2

878270168183. 3 gcollegedunias
878270168184. 4 )



Question Number : 11 Question Id : 87827042826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faERUT (D) 3R =FAT () BT 9UH B dIall Tiad e 4 GHID o

1. D=(k.T)/(6.7.9.7)
2 D=k n.T/(6.9.7)
3 D=kr.T/(6n.7)
4 D==Fk.r. f(6.n.7.T)

Options:

878270168181. 1
878270168182. 2
878270168183. 3

878270168184. 4

Question Number : 12 Question Id : 87827042827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thiols, Thioethers, Nitrites containing drugs are primarily susceptible to:

1. Oxidation

2. Hydrolysis
3. Reduction
4. Cyclization

Options :

878270168185. 1

878270168186. 2
878270168187.3 @ collegedunia:
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878270168188. 4

Question Number : 12 Question Id : 87827042827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. SATHH
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Options :

878270168185. 1
878270168186. 2
878270168187. 3

878270168188. 4

Question Number : 13 Question Id : 87827042828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Very slightly soluble means Parts of solvent required for 1 part of solute:

1. From 100 to 1000
2. From 1000 to 10000
3. From 30 to 100

4 10000 and over

Options :
878270168189. 1
878270168190. 2 gcollegedunias
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878270168192. 4

Question Number : 13 Question Id : 87827042828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270168189. 1
878270168190. 2
878270168191. 3

878270168192. 4

Question Number : 14 Question Id : 87827042829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sodium salt of polycarboxymethyl ether of cellulose is also known as:

1. AVICEL

2. AVICEL PH101

3. Polycarbapol sodium
4 CMC Sodium

Options :
878270168193. 1
878270168194, 2 gcollegedunias
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878270168196. 4

Question Number : 14 Question Id : 87827042829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yegag & UlcidlaaiayTEe 52 © Hiisgd Tau ! (g fRad wu 5 oI &1 =il &:
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Options :

878270168193. 1
878270168194. 2
878270168195. 3

878270168196. 4

Question Number : 15 Question Id : 87827042830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sun protection factor is defined as:

1. The ratio between UV exposure required to produce a minimally perceptible erythema on unprotected skin and the
exposure that will produce the same erythema in protected skin

2. The ratio between UV exposure required to produce a minimally perceptible erythema on protected skin and the
exposure that will produce the same eryihema in unprotected skin

3. The ratio between UV exposure required fo produce a maximum perceptible erythema on protected skin and the
exposure that will produce the same eryihema in unprotected skin

4. The ratio between UV exposure required to produce a maximum perceptible erythema on unprotected skin and the
exposure that will produce the same erythema in protected skin

gcollegedunias

Options : =



878270168197. 1
878270168198. 2
878270168199. 3

878270168200. 4

Question Number : 15 Question Id : 87827042830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270168197. 1
878270168198. 2
878270168199. 3

878270168200. 4

Question Number : 16 Question Id : 87827042831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statement regarding Heckel plot from the following:

1. It is plotted between Log (porosity)! against Compressional force
2. It is plotted between Log (porosity) against Compressional force

3. It is plotted between (Porosity)! against Log (Compressional force)
4 ltis plotted between (Porosity) against Log (Compressional force)

Options :

878270168201. 1
878270168202. 2
878270168203. 3
878270168204. 4

Question Number : 16 Question Id : 87827042831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168201. 1
878270168202. 2
878270168203. 3

878270168204. 4

Question Number : 17 Question Id : 87827042832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 g

collegedunia:
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Correct Marks : 4 Wrong Marks : 1

Suggest correct sequence of parts of aerosol bottle valve from top:
(A). Stem

(B). Ferrule

(C). Valve seat

(D). Mounting gasket

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2 Gﬂ (B }ID)lC]
(B), {A‘u (C), (D
4.{C;. ), (D), [m_
Options :

878270168205. 1
878270168206. 2
878270168207. 3

878270168208. 4

Question Number : 17 Question Id : 87827042832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



T O TS Sidd dled & M & ol 36 Bl TSI
(A) &H

(B) &l

(C) dled HiT

(D) A3 e

-t fau U fadedl & ¥ 981 IR -

1. (A), (B), (C), (D)

2 (A), (B), (D), (C)
(B), {F‘a‘l (C), [D]

4.{Cj~. ), (D), (A

Options :

878270168205. 1
878270168206. 2
878270168207. 3

878270168208. 4

Question Number : 18 Question Id : 87827042833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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What is the correct order of increasing HLB?
(A). w/o emulsifying agent

(B). o/w emulsifying agent

(C). wetting agent

(D). solubilizing agent

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2. (A), (C), (B), (D)

3. (B), (A), (D), (C)

4. (C), (B), (D), (A)
Options :

8782701682009. 1
878270168210. 2
878270168211. 3
878270168212. 4

Question Number : 18 Question Id : 87827042833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (C), (D)
2. (A), (C), (B), (D)
3. (B), (A), (D), |C]
4.(C), (B), (D), (A

Options :

878270168209. 1
878270168210. 2
878270168211. 3

878270168212. 4

Question Number : 19 Question Id : 87827042834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Choose the correct sequence in development of drug candidate:
(A). Bioavailability

(B). Physical characterization

(C). Process developement

(D). Molecular optimization

Choose the correct answer from the options given below:

(D

(C

1. (A), (B), ( )
2. (A), (B), ( )
3. (D), (B), (C), (A).
4 (C), (B), (D), (A).

o

),
),
),
),

Options :

878270168213. 1
878270168214. 2
878270168215. 3

878270168216. 4

Question Number : 19 Question Id : 87827042834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B). (C),
2 {FU {Eﬁ} (D),
3. (D), (B), (C). (A

4. {C,? ), (D), [A

CJC-)

(D)
C]

Options :

878270168213. 1
878270168214. 2
878270168215. 3

878270168216. 4

Question Number : 20 Question Id : 87827042835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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What are the facts about sterile products from the following:

(A). Complete drug bioavailability occurs in i.v. injections.

(B). Polyethylene glycol(LMW) can be used as vehicles in injections

(C). Irrigating solutions rquired to have similar standarads as parenteral solutions
(D). Opthalmic products are external products

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).
4 (B), (C)and (D) only

Options :

878270168217. 1
878270168218. 2
878270168219. 3
878270168220. 4

Question Number : 20 Question Id : 87827042835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Ffafad 3 Feffane sael @ R § J ad &
(A) 313 d1. Soieie 7 qul 3wy S Juaed gl 3l

(B) U2 TR (TaUHSsY) B UGN 3ot § digd! o & H a1 off 9dbdl |

C) ST FHIHM & U Mok THIHHI & T9H HId gl a0 ® o

(D) 7 IdIG 91 3G 5|
Td eu e fowedl © € 98 ST

1.%ad (A), (B) 3R (D)
2%?[{!%}(831’1? C)
3. (A), (B), (C) 3R (D)
4 &ad (B). (C) 3R (D)

Options :

878270168217. 1
878270168218. 2
878270168219. 3

878270168220. 4

Question Number : 21 Question Id : 87827042836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Microencapsulation can help in:

{A). Injectables of islets of langerhans

(B). Lotion of Methyl salycylate - Menthol mixture

(C). Capsule of potassium chloride

(D). Solution of Vitamin A palmitate

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270168221. 1
878270168222. 2
878270168223. 3

878270168224. 4

Question Number : 21 Question Id : 87827042836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



[y /N

FEAEYE HHie

\d § Yeradl &R &l o:

(A) TTREI & BB T8 B =a-auiigar §

N

(B) uEa AftiRice-A=~Ta 30 &1 AdeH

(C) TRy RS S &I 4ye

(D) faer®= T uiferee &1 faaa

-t fau U fadedl & ¥ 981 IR -

1.%ad (A), (B) IR (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270168221. 1
878270168222. 2
878270168223. 3

878270168224. 4

Question Number : 22 Question Id : 87827042837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



In relation to paper as packaging material choose the correct statement(s):
(A). It is moisture sensitive

(B). It has cushion property to protect primary package

(C). It has the ability to create deadfolds

(D). It is non recyclable

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270168225. 1
878270168226. 2
878270168227.3
878270168228. 4

Question Number : 22 Question Id : 87827042837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Ooh foltT Tt & &4 § 1ol & Ja8 5, ol Y g
(A) T8 sl & Wi Yde-T=id B
(B) 39 UTUfH® JobforT & Q&N & fou am qur |

(C) 3T SabIcs 511 @I &Hdl o

(D) T8 THHaHTE0 9rg Jel &

-t fau U fadedl & ¥ 981 IR -

1.%ad (A), (B) IR (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270168225. 1
878270168226. 2
878270168227.3
878270168228. 4

Question Number : 23 Question Id : 87827042838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Match List-l with List-l|

List-| List-ll

Plastic additives |Role

(A).Talc (). Reduce static accumulation

(B).Cresol (). Give a whiter then whiter appearance

(C). Ultramarine|(ll1). Retard oxidation

(D). Surfactant |(IV).reduce plastic degradation

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (IV), (B) - (111}, (C) - (I, (D) - (1)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270168229. 1
878270168230. 2
878270168231. 3

878270168232. 4

Question Number : 23 Question Id : 87827042838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



G-l &1 Il & 91y feaE she

- 11|

(A) TTF () s TTg & FH 51
(B)FE@  |(1)TF ST iR R sg = g
(C) HETTERH |(IIl) SHTaiigE< &1 HeA

(D) IEHHTS|(1V) TRES &R0 &I HH B
- feu e famedl 5 9§ 981 o) 9

1.(A) -, (B) - (1), (C) - (ll :' (D}—{W}
2 (A)- (V). {EH-{III) (C) - (I1), (D) - (1)
3. (A)-(), (B) - (1), (C) - (IV fJ D) - (1)
4 (A) - (ll), (B) - {w;u (C) - (1), (D) - (IN)

Options:

878270168229. 1
878270168230. 2
878270168231. 3

878270168232. 4

Question Number : 24 Question Id : 87827042839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-l|

List-| List-I

Renal clearance ( miimin)({Drug

(A). 650 (1). lodopyracet

(B). 130 (I1). Inulin

(C). =130 (111). Lipophillic drugs
(D). 0 (IV). Glucose

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV
2. (A) - (D), (B) - (111}, (C} - (IN), (D) - (IV
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (N

(D
e (D
. (

i gt mg® g

Options :

878270168233. 1
878270168234. 2
878270168235. 3
878270168236. 4

Question Number : 24 Question Id : 87827042839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



G-l &1 Il & 91y feaE she

-l -l

ga Ioda (THU/fEe)| ey

(A) 650 (1) HAISAERTEE
(B) 130 () e

(C) <130 (I1l) TERFT ey
(D)0 (IV) B

T RU M e 54 98 SR
1. (A) - (D), (B) - (1), (C) - {Illj (D) - (IV)
2 (A) - (1), (B) - |||} (C)- (I, {D} (IV)
3. (A) - (1), (B) - (Il), (C) - (IV), (D) - (1)
4 (A) - (I, (B) - {w:u (C) - (1), D}-[II}

Options:

878270168233. 1
878270168234. 2
878270168235. 3

878270168236. 4

Question Number : 25 Question Id : 87827042840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-l|

List-| List-ll

Metabolic pathway Example

(A). Aromatic hydroxylation {1). Valproic acid
(B). Oxidation of olefines (). Tolbutamide

(C). Oxidation of Benzylic carbon atom|(lll). Carbamazepine

(D). Aliphatic hydroxylation (IV). Arenes

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (111}, (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (111}, (C) - (In), (D) - (1)

4. (A)-(IV), (B) - (IN, (C) - (1), (D) - (1T}
Options :

878270168237. 1
878270168238. 2
878270168239. 3

878270168240. 4

Question Number : 25 Question Id : 87827042840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



G-l &1 Il & 91y feaE she

- Al

(A) WRIATEE SIES T (1) STCTHIS 7
(B) HTTHIS4 &1 Higaim NEREEEIES]
(C) SIS FTa- XA BT Hiaiier<ul|(1ll) HIarHST
(D) e iess BrsghaaaEA (V) TR
T e f S IR T

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (11}, (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (IV), (B) - (IN), (C) - (1), (D) - (11}

Options:

878270168237. 1
878270168238. 2
878270168239. 3

878270168240. 4

Question Number : 26 Question Id : 87827042841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-l|

List-| List-Il

Protein Bound drug

(A). HSA (1). Cupric ion

(B). AAG (11). Chlorpromazine

(C). Lipoprotein

(I11). Quinidine

(D). Alpha 2 Globulin

(V). Large varieties of drugs

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4. (A) - (IV), (B) - (1), (C) - (In), (D) - (1)
Options :

878270168241. 1
878270168242. 2
878270168243. 3

878270168244. 4

Question Number : 26 Question Id : 87827042841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



G-l &1 Il & 91y feaE she

-l -l

e T& Y

(A) T9THY (1) g S

(B) Uil (Il) FARTETSH

(C) RmadeH UNEEISE]

(D) ST 2 TafeH|(1v) vy &1 fafafia

-d fu TTe fadedl § 9 98! 3w -

1. (A) - (1), (B) - (I, (C) - {Illj (D) - (IV)

2. (A)-(I), (B) - |||} (C)- (), (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)

4. (A) - (IV), (B) - {lllit )- (1), (D) - (1)
Options:

878270168241. 1
878270168242. 2
878270168243. 3

878270168244. 4

Question Number : 27 Question Id : 87827042842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The intermediate formed in pinacole-pinaceolone rearrangement Is:

1. Carbanion
2. Carbocation
3. Free radical
4 Carbene

Options :
878270168245. 1

878270168246. 2 @collegedunias

878270168247. 3 N



878270168248. 4

Question Number : 27 Question Id : 87827042842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et )

[OTeh Iai-fUHT IeTl= grioda=yl H A g1+ aren dAeadi &:

1. DEIaA
2. E:%E e

3. qad gad
4 P&

Options :

878270168245. 1
878270168246. 2
878270168247.3
878270168248. 4

Question Number : 28 Question Id : 87827042843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the follwing parameter/s of the analyte is measured in polarography?

1. Voltage (Potential)

2. Current

3. mass - transport limiting current
4 Coulombs

Options :

878270168249. 1 .
collegedunia:
878270168250. 2

~



878270168251. 3

878270168252. 4

Question Number : 28 Question Id : 87827042843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faRa™ & fo g 99 U/l & Yaoiela- & J197 Sl g2

1. diced! (Udurdn)

2 YRI

3. A1 - URdgH UiHd faggd 4RI
4 Hoiiey

Options:

878270168249. 1
878270168250. 2
878270168251. 3

878270168252. 4

Question Number : 29 Question Id : 87827042844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following radicneucelide has lowest half life?

1. Gallium-67
2. Indium-111
3. Xenon-133
4 Technetium-99m

Options :

878270168253 1 gcollegedunias

~

878270168254. 2



878270168255. 3

878270168256. 4

Question Number : 29 Question Id : 87827042844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it
b

fgfafad o 1 feg Weggads e o 34y <g=ad

1. Tferga-67
2. 3feTH-111
3. 9HF-133
4 dEifegH-99ug

Options:

878270168253. 1
878270168254. 2
878270168255. 3

878270168256. 4

Question Number : 30 Question Id : 87827042845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds is used as disease modifying antirheumatic drug?

1. Copper
2. Gold
3. Silver
4 Thalium

Options : .
collegedunia:
878270168257 1

~



878270168258. 2
878270168259. 3

878270168260. 4

Question Number : 30 Question Id : 87827042845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o @H"éﬂ(—':ﬁ -_={_;_ﬂﬁ.- f 7 'é:li q .ﬂ'{“:-""'\(-?.
gieiad | ¥ fob g FifiT o1 JUai I [AEUUBRT SHHaTd a2 319 b &0 H fhdl oiiell 57

Options:

878270168257. 1
878270168258. 2
878270168259. 3

878270168260. 4

Question Number : 31 Question Id : 87827042846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The organic molecules may show optical activity even in absence of chiral carbon in their stucture. Such phenomenon is
called as:

1. Mesomerism
2. Anisotropic effect
3. Atropisomerism

4 Diasateromeric effect
collegedunia:

~



Options :

878270168261. 1
878270168262. 2
878270168263. 3
878270168264. 4

Question Number : 31 Question Id : 87827042846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A N TR TR et o ourte & of e iy vefRfa a9 €| 06 e ol wg o &

R:tGG
) fe e gHIg
3. E‘\; DE |]-\| {G]

4 3ot FfoR TIGUd THTE (STORCUAND 30 )

Options :

878270168261. 1
878270168262. 2
878270168263. 3

878270168264. 4

Question Number : 32 Question Id : 87827042847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



International Council for Harmonization of Technical requirements for pharmaceuticals for human provides guidelines that
address the chemistry, possible impurities, their level and safety aspects as per [CH Code or thelr revision:

1.Q1A
2.Q3A
3.Q5C
4 Q6A

Options :

878270168265. 1
878270168266. 2
878270168267. 3

878270168268. 4

Question Number : 32 Question Id : 87827042847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 5 o SR St e e et o P UG T TG W et & o e s 71 37
S & S T 4, T o, s o o e el 1 Wl ot

1.Q1A
2.Q3A
3.Q5C
4 Q6A

Options:

878270168265. 1
878270168266. 2
878270168267.3

878270168268. 4

Question Number : 33 Question Id : 87827042848 Question Type : M( g

collegedunia:
Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{5)-3-1sobutyl-gama amino butyric acid 1s:

1. Gabapentin
2. Pregabalin
3. Vigabatnn
4 Tiagabine

Options :

878270168269. 1
878270168270. 2
878270168271.3

878270168272. 4

Question Number : 33 Question Id : 87827042848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(S)-3-3Mgasfea- T 3T JERie o &

1. ::»E ﬁﬁ_
2. ;I‘ |a wim
3. famefes
4. L 'ii

Options :

878270168269. 1
878270168270. 2
878270168271. 3

878270168272. 4

Question Number : 34 Question Id : 87827042849 Question Type : M( gcollegedumas

~



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The presence of electron withdrawing groups as chloro or nitro on the C2 position of phenothiazine imparts which of the
following activity to the moleculg?

1. Antihistamininc
2. Antibactenal

3. Anthelmenic
4. Antipsychotic

Options :

878270168273. 1
878270168274. 2
878270168275. 3

878270168276. 4

Question Number : 34 Question Id : 87827042849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T @1 C2 Rt R R 71 T2l & 0 & Suiae SiTa 9 &) ourta o @l g & 8 o 8 afefaf wem
CAGIY

1 twite
RG]
3 tiHies

4 TR ien

Options:

878270168273. 1

878270168274. 2

878270168275. 3 gcollegedunias

878270168276. 4 N



Question Number : 35 Question Id : 87827042850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reduction of lactones to lactols be carried out best with which of the following methods or the reagents?

1. Rosenmund reaction

2. Clemmenson reduction

3. Diisiobuty! aluminium hydride
4. Lithium Alumnium Hydride

Options:

878270168277. 1
878270168278. 2
878270168279. 3

878270168280. 4

Question Number : 35 Question Id : 87827042850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaRaa & € fod G a1 sfiede! & 91y teeH @1 ddbela d 998 G9Y 38! &8 oidl 87

Options :

878270168277. 1

878270168278. 2
878270168279. 3 @ collegedunia:

~



878270168280. 4

Question Number : 36 Question Id : 87827042851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sodium is one of major electrolyte in the human body. It is present in higher concentration in which compartment?

1. Intracellular

2. Extracellular

3. Depending on the type of cell either extracellular or intracellular compartment
4 Cytoplamsic membrane

Options :

878270168281. 1
878270168282. 2
878270168283. 3

878270168284. 4

Question Number : 36 Question Id : 87827042851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIfeTH A4 TRR & YHE Sodeiaigey 5 4 U ¢ | U8 (69 Uo18 H 3 Yigdl | dig 57

1. Aa-PITHE
3. IS & UHR & HMYR R 14 912 HIRDT T 3 IR THig o
4 WEeIaENS e

Options :
878270168281. 1

878270168282. 2 gcollegedunias
878270168283. 3 )



878270168284. 4

Question Number : 37 Question Id : 87827042852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the term used to signify the concordence of a series of measurements of the same activity ?

1. Accuracy

2. Precision

3. Absolute accuracy
4 Fidelity

Options :

878270168285. 1
878270168286. 2
878270168287. 3

878270168288. 4

Question Number : 37 Question Id : 87827042852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GO TRfATY & 1101 31 U §ae &1 Wheud &l G2 o o g e o1 ST i il 82

1. Q_C—Sﬁx..
2. Wil

3. Q0 gl
4 fasgrega

Options :
878270168285. 1

878270168286. 2 ,
collegedunia:
878270168287. 3 ¢



878270168288. 4

Question Number : 38 Question Id : 87827042853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitrobenzene can be used as solvent for Friedel Crafts reaction becuase:

1. Nitrobenzene is a apolar protic solvent

2. Nitobenzene competes with substrate for acyl electrophile and speeds up the rate of reaction
3. Nitro group in nitrobenzene deactivates the ring making it inert to Friedel Crafts acylation

4 Nitrobenzene stabilizes acylium cation which is an electrophile for the reaction

Options :

878270168289. 1
878270168290. 2
878270168291. 3

878270168292. 4

Question Number : 38 Question Id : 87827042853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TgEIaol &1 ST THiea - HI B Waiwd & o e & & foa o Tl § wifes:

| =¢£|&1“u1“|4w61d|c1<>4“||“8m 3 2l

2. eI THEa SedeIblad o o bR @ Ty Hfowaef a1 3R Tialba & g &l do adl o

3 mﬂﬁﬂﬁmmﬁfﬁmmﬂ%mwrwu SPITE o Ui @ foT sy 51 oI 8|
4 TrEereiol URe P &1 R &1 & o Wiaferd o fol U S0 bRa ¢

Options :
878270168289. 1

878270168290. 2 gcollegedunias

878270168291, 3 i



878270168292. 4

Question Number : 39 Question Id : 87827042854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
What is the correct sequence of activation reactions in blood coagulation cascade?
(A). Conversion of prothrombin to thrombin
(B). Activation of fibrinogen to fibrin
(C). Activation of Factor X to Xa
(D). Appearance of tisssue factor

Choose the correct answer from the options given below:

1. (A), (D), (C), (B)
2. (D), (C), (A), (B)
3.(D), (B), (C), (A)
4 (D), (A), (B), (C)
Options :

878270168293. 1
878270168294. 2
878270168295. 3

878270168296. 4

Question Number : 39 Question Id : 87827042854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



I YFDIDH0 b s | Tiehaur Ufaferarai &1 Ual IhH &1 82

(A) Ui @&t diffa § agam

(B) BI3foHIoH @ BI3fa- H |ithd &l

(C) BR® X T Xa &I Albgu

(D) Fdd RS dI IUUd

-t fau U fadedl & ¥ 981 IR -

1. (A), (D), (C). (B)
2. (D), (C), (A), (B)
3. (D), (B), (C), (A)
4 (D), (A), (B), (C)

(B
B

i
|

Options :

878270168293. 1
878270168294. 2
878270168295. 3

878270168296. 4

Question Number : 40 Question Id : 87827042855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A new Carbon-Carbon bond formation is possible in which of the following reactions?
(A). Cannizaro's reaction

(B). Friedal Craft's reaction

(C). Reimer Tiemann reaction

(D). Clemmenson's reduction

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (A), (B) and (C) only.
3. (B)and (C) only
4. (C)and (D) only.

Options :

878270168297. 1
878270168298. 2
878270168299. 3
878270168300. 4

Question Number : 40 Question Id : 87827042855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Fafafad o O farg sififerar § U 991 SieH-He- §¢F 8991 §Hd 872
(A) BITEIRT BT SAHThT

(B) WiSd SIUC i SAfHRTT

(C) TR T1EA BT AT

(D) FCHAG 39a

-t fau U fadedl & ¥ 981 IR -

1. %ad (A) AR (D)
2 ®ad (A), (B) 3R (C)
3. ®ad (B) AR (C)
4. @&4d (C) 31 (D)

Options :

878270168297. 1
878270168298. 2
878270168299. 3

878270168300. 4

Question Number : 41 Question Id : 87827042856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Arrange the following steroidal molecules in the sequence of increasing number of carbon atoms (From lowest to highest)
(A). Estrane

(B). Cholastane

(C). Gonane

(D). Androstane

Choose the correct answer from the options given below:

Options :

878270168301. 1
878270168302. 2
878270168303. 3
878270168304. 4

Question Number : 41 Question Id : 87827042856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



e QRAI B g0l G (Fan § Tadad ) @ #9 4 HEiiad ©Xgse S 61 aaed o
(A) T

(B) BITRA

(C) T

Options :

878270168301. 1
878270168302. 2
878270168303. 3
878270168304. 4

Question Number : 42 Question Id : 87827042857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



In biosynthesis of prostaglandins what is the sequence of biochemical events for the steps involved
(A). Formation of PGA2

(B). Formation of PGG2

(C). Action of phospholipase to release arachidonic acid

(D). Formation of PGH2

Choose the correct answer from the options given below:

Options :

878270168305. 1
878270168306. 2
878270168307. 3

878270168308. 4

Question Number : 42 Question Id : 87827042857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



NRCTei o & Wiidd YRuUl § AT IR0 o ol Sid IREHE ge-13l & 3 hH &1 6

(A) Tieiim2 &1 FEi

(B) Tetioi2 @1 A

Y Y

(C) IRMbeFd TRrS ®i FHfa gq BIepIRUs $i bl

(D) Ui &1 4
i g e fawed! § O W81 SR -

1.(C), (D), (A), (B)
2.(A), (B), (C), (D)
3.(C), (B), (D), (A)
4 (C), (A), (B), (D)
Options :

878270168305. 1
878270168306. 2
878270168307. 3

878270168308. 4

Question Number : 43 Question Id : 87827042858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-| of terms used in analysis with List-ll of their method of determination

List-I

List-ll

Analysis

Method of determination

(A). Organic nitrogen

(1}. Complexometric titration

(B). Moisture content

(I). Kjeldhal method

(C). Chemical oxygen demand of sample

(1II). Karl Fischer method

(D). Hardness of water

(IV). Redox titration

Choose the correct answer from the options given below:

1. (A) - (I, (B) - (1), (C) - (IV), (D) - (

2. (A)- (I}, (B) - (IV), (C) - (Im), (D) - (

3. (A) - (), (B) - (I, (C) - (IV), (D) - (I

4. (A) - (IV), (B) - (1), (C) - (), (D) - (1l
Options :

878270168309. 1
878270168310. 2
878270168311. 3

878270168312. 4

Question Number : 43 Question Id : 87827042858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fereryn 7 SUaiT fobt S a1l Wea! 1 Q-1 SR S ekl fafY @t gt &1 fivas sRe

LEl LAl

(A) TS A5 () BFEEICE AT

(B) TH! B AR () oiesTe fafy

(C) TR P THES et 5| (1Il) FTE RN &

(D) & &I FoRAl (v) Reies sgamA

e e B R R ke

1. (A) - (lIT), (B) - (1), (C) - W) D)- (1)

2. (A) - (I1), (B) - (IV), (C) - (11}, (D) - (1)

3. (A) - (1), (B) - (), (C) - W) ) (1)

4 (A)-(IV), (B) - (1), (C) - (1), (D) - (IN)
Options:

878270168309. 1
878270168310. 2
878270168311. 3

878270168312. 4

Question Number : 44 Question Id : 87827042859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l of reactions with List-1| of reaction type

List-| List-1I

Reaction Type

(A). Claisen rearrangement (1. E2 mechanism

(B). Hoffman degradation (I1). Aromatic electrophilic substitution
(C). Kolbe reaction (lI1). Aromatic nucleophilic substitution
(D). m—Bromoanisole to m-anisidine|(IV). Sigmatropic reaction

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (NT}

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)

3. (A) - (IV), (B) - (111}, (C) - (In), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270168313. 1
878270168314. 2
878270168315. 3

878270168316. 4

Question Number : 44 Question Id : 87827042859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias_

~



-

nfafshar HeR &1 -1l & Ty wiafssarsd &1 gl &1 fieaq s

- -l

sifferar TR

(A) TG g aR )32 a7

(B) BTHEA e (1) e seiaiftpfoes wiemura
(C) Tieat sifvifemar () geitea =feeraithicre wiawuma
(D) TA-SIHIE G | TH-GHIas H (V) Regiive siftfsar

TR e i3 IR T

1.(A) - (IV), (B) - (1), (C) - (1), (D) - (1)
2. (A) - (1), (B) - (IV), (C) - (11T}, (D) - (11}
3. (A) - (IV), (B) - (1), (C) - (1), (D) - ()
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270168313. 1
878270168314. 2
878270168315. 3

878270168316. 4

Question Number : 45 Question Id : 87827042860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l of antidiabetic drugs with List-1l of their molecualr target for action

List-I List-1l

Antidiabetic drug  |Molecular target for action
(A). Dapaglifiozin |(I). ATP sensitive Potassium channel, inhibition

(B). Repaglinide |(II).PPAR gamma and alpha receptor, dual agonist

(C). Rosiglitazone|(lll). SGLT2, inhibition

(D). Rapaglitazar |(IV).PPAR gamma receptor, agonist

Choose the correct answer from the options given below:

1. (A) - (I1), (B) - (1), (C) - (IV), (D) - (1l
2. (A)- (1), (B) - (1), (C) - (IN), (D) - (IV
3. (A)- (), (B) - (IN), (C) - (IV), (D) - (Il
4. (A)- (i), (B) - (I}, (C) - (IV), (D) - (Il

i it mg® g

Options :

878270168317. 1
878270168318. 2
878270168319. 3
878270168320. 4

Question Number : 45 Question Id : 87827042860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias_

~



qyAg gared & G-l & WY b & o 399 i deg & G-l &1 fieH s

- el

HyAgdi o [foban o o suifaes Teg

(A) SUTReTFRIRe(() T & ®. SeTRie UeiREE 9, SR
(B) TS (1) Siwem e S st T, Sl T

1

(C) Afeei= () T, o Te. 2. 2, iy
(D) YHIeeR  ((1V) Sidtgem e REe, e
R U e & 4 W TR

1. (A) - (1), (B) - (), (C) - (IV), (D) - (Il

2. (A)- (I, (B) - (1), (C) - (In), (D) - (IV)

3. (A)- (1), (B) - (IN), (C) - (IV), (D) - (11T}

4 (A)-(ll), (B) - (), (C) - (IV), (D) - (1)

Options :

878270168317. 1
878270168318. 2
878270168319. 3

878270168320. 4

Question Number : 46 Question Id : 87827042861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the sarcomere, the Z line:

1. Is the boundary between adjacent sarcomeres
2. Runs down the centre of each sarcomere

3. Gives attachement to myosin filaments

4 Stores calcium

Options :

878270168321. 1

878270168322. 2
878270168323. 3 @ collegedunia:

~



878270168324. 4

Question Number : 46 Question Id : 87827042861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGO H 7 TG

1. A AHIHY $ &g I 9 &
2 Ud® OIER & dg ¥ g Ial ordl
4 Ffcargy Ysid #dt B

e

Options :

878270168321. 1
878270168322. 2
878270168323. 3
878270168324. 4

Question Number : 47 Question Id : 87827042862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following eicosanoids is synthesized from linoleic acid via cyclooxygenase pathway?

1. PGE4
2. LTA;
3. TXA;
4 LTBs

Options :
878270168325. 1

878270168326. 2 gcollegedunias
878270168327. 3 )



878270168328. 4

Question Number : 47 Question Id : 87827042862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafefd ¥ ¢ 59 1o sorHEs @ fiFifvs this 1em © aseisiadiiony oy 3 9xofia a2
1. feftg

19,
2. Taicldy
3. CIURTG,,
4. el

Options :

878270168325. 1
878270168326. 2
878270168327. 3
878270168328. 4

Question Number : 48 Question Id : 87827042863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Linitis plastica is form of

1. Chronic atrophic gastritis
2. Achalasia cardia

3. Gastric carcinoma

4. Peptic ulcer

Options :
878270168329. 1

878270168330. 2 gcollegedunias
878270168331. 3 )



878270168332. 4

Question Number : 48 Question Id : 87827042863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feFTsed el HIEUB

1. $ifAD Teiihd IRTSCH
2. AT difedr

3. ST BRG]

4 UP® AR

Options :

878270168329. 1
878270168330. 2
878270168331. 3
878270168332. 4

Question Number : 49 Question Id : 87827042864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. drug used in treatment of glaucoma by increasing trabecular outflow of agueous humour

1. Timolol

2. Apraclonidine
3. Pilocarpine
4. Brinzolamide

Options :
878270168333. 1

878270168334. 2 ,
collegedunia:
878270168335. 3 <



878270168336. 4

Question Number : 49 Question Id : 87827042864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el B & CIPR el B IR @I H JUER & JUh Bl oH AT Gl &

Options :

878270168333. 1
878270168334. 2
878270168335. 3
878270168336. 4

Question Number : 50 Question Id : 87827042865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 synthetic progestin with weak oestrogenic, weak androgenic, anabolic and poor antiovulatory action

1. Dimethisterone
2. Norethindrone
3. Lynestrenol

4. Norgestrel

Options :
878270168337. 1
878270168338. 2 gcollegedunias

~

878270168339. 3



878270168340. 4

Question Number : 50 Question Id : 87827042865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. SEAREH
2 AN
4 e

BHGIR TEelol, HHOIR Lglaie, THialas 3 @ve Ceidided g o ary fdfee oified 3

Options :

878270168337. 1
878270168338. 2
878270168339. 3
878270168340. 4

Question Number : 51 Question Id : 87827042866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

compounds/drug are both blood schizontocide and gametocide

1. Artemisinin
2. Proguanil

3. Cinchona

4 Tafenoqguine

Options :

878270168341. 1 .
collegedunia:
878270168342. 2

~



878270168343. 3

878270168344. 4

Question Number : 51 Question Id : 87827042866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

i1/ M9y 9 RAe<iaEs 3R THHEs Hi 8

2. TR
3. H-ADbH
4 BB

Options:

878270168341. 1
878270168342. 2
878270168343. 3

878270168344. 4

Question Number : 52 Question Id : 87827042867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mucousal damage is more common with imidazoline alpha 2 receptor agonist than phenylephrine is because of

1. Alpha 1 mediated vasoconstriction in arterioles
2. Alpha 2 mediated vasodilation in venous vessels
3. Alpha 2 mediated vasoconstriction in arterioles
4 Alpha 1 mediated vasodilation in arterioles

Options : .
collegedunia:
878270168345. 1

~



878270168346. 2
878270168347. 3

878270168348. 4

Question Number : 52 Question Id : 87827042867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i @I qol 8 SESTelfer sichl 2 R Wiifve & 9 Ao &fd ofds 9m 8

1. yEHSH H 3w 1 TR J9]

3 ﬁmﬁaﬂﬁiﬁﬂmﬂwaﬁﬁﬂm
3. yAF@Ie J ofch 2 AT dgRe e
4 amﬁm:“inﬁmnwaﬁﬂﬁmﬂ

Options:

878270168345. 1
878270168346. 2
878270168347. 3
878270168348. 4

Question Number : 53 Question Id : 87827042868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The timing of administration of evening dose of insulin is important because of phenomenon.

1. Somogyi

2 Dales

3. Insulin resistance
4 Dawn

_ gcollegedunias
Options:

~



878270168349. 1
878270168350. 2
878270168351. 3

878270168352. 4

Question Number : 53 Question Id : 87827042868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He-l & HRU SgfeH @1 XM &1 WS &1 Feaqy ol

o
2 o

3. $Yfo UfaRlY
4 31

Options :

878270168349. 1
878270168350. 2
878270168351. 3

878270168352. 4

Question Number : 54 Question Id : 87827042869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 65 year old man suffers a myocardial infraction and is given tissue plasminogen activator within 6 hours of onset of the
thrombosis o achieve one of the following

1. Prevent activation of extrinsic pathway of coagulation
2. Inhibit thrombin

3. Enhance degradation of factors VIila and Va
4. Enhance fibrinolysis gcol Iegeduniag

~



Options :

878270168353. 1
878270168354. 2
878270168355. 3
878270168356. 4

Question Number : 54 Question Id : 87827042869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

65 A O R 0 R R A 1 e 6 e R e e
T & s o 9 0 T o o

1, TG & ST T o a0 3 L
. J1fE & FR

3. Villa R VATR®! & HEdR 3l a5
4 TR T o

Options :

878270168353. 1
878270168354. 2
878270168355. 3

878270168356. 4

Question Number : 55 Question Id : 87827042870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which type of substrate is required for glucuronidation?

1. Phenols
2. Epoxide
3. Arene oxides
4 Alkene oxides

Options :

878270168357. 1
878270168358. 2
878270168359. 3

878270168360. 4

Question Number : 55 Question Id : 87827042870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B RIS & U 59 UsR & HuyRa &1 3raxgsdl gl 22

1. B

2. UUlaHEs

3. A 333
4 UethH G133

Options:

878270168357. 1
878270168358. 2
878270168359. 3

878270168360. 4

Question Number : 56 Question Id : 87827042871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time: N.AT

Minimum Instruction Time : 0 gcollegeduniag

~

Correct Marks : 4 Wrong Marks : 1



Anonvolatile, high lipid soluble drug is metabolized at a rate of 15% per hour. On intravenous injection it produces general
aneasthesia for 10 min. Which process is responsible for termination of its action

1. Metabolism in Liver

2. Plasma Protein Binding
3. Excretion

4 Redistribution

Options :

878270168361. 1
878270168362. 2
878270168363. 3

878270168364. 4

Question Number : 56 Question Id : 87827042871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 7R A, e T eTeitr el 1 45 FHl il ¢ 1 &% e fovel e 1 9k BT S W %g 10 e
forw g ke e U i 21 0 Wt b ! 1 1 Tl e b fort PG

1. for o HerlforA
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4 FidwT

Options:

878270168361. 1
878270168362. 2
878270168363. 3

878270168364. 4

Question Number : 57 Question Id : 87827042872 Question Type : M( g

collegedunia:
Is Question Mandatory : No Calculator : None Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Down regulation of receptors can occur as a consequence of

1. Continous use of agonist

2. Continous use of antagonist

3. Chronic use of CNS Depressants
4 Denervation

Options :

878270168365. 1
878270168366. 2
878270168367. 3

878270168368. 4

Question Number : 57 Question Id : 87827042872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e &1 234 WowH Rufaiad & gRumesy g Ydhdl @

1. T &1 FRaT 3uan
2. TR @1 AR Sudi
3. 9t UF. UH. qUIeiud] &1 S diieis Suai

Options :

878270168365. 1
878270168366. 2
878270168367. 3

878270168368. 4

Question Number : 58 Question Id : 87827042873 Question Type : M( gconegedumaé

~



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct sequence of event for purine biosynthesis

(A). Ribose 5-phosphate to Phosphoribosy! pyrophosphate

(B). Aminoimidazole carboxylate ribosyl-5-phosphate

(C). 5-Phospho-ribosylamine to Glycinamide ribosyl-5-phosphate

(D). Formylglycinamide ribosyl-5-phosphate to Formylglycinamidine ribosyl-5-phosphate

Choose the correct answer from the options given below:

Options :

878270168369. 1
878270168370. 2
878270168371. 3

878270168372. 4

Question Number : 58 Question Id : 87827042873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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(A) 38 5-FRhe 8 BRGINGTT TR hIhe
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(B) ST Srelidce Tgaia-5-B e

(C) 5-BRGIIEITAHET U TGS J5ad-5-Behe

(D) BIHTAS RS U3ad-5-BRbe 4 BIamaRaTasiad Aead-5-Blbe

41 feg e faedl & 9 W81 IR

Options :

878270168369. 1
878270168370. 2
878270168371. 3

878270168372. 4

Question Number : 59 Question Id : 87827042874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Pathogenesis of atheromatous plaques by response-to-injury theory. Sequence of event

(A). T lymphocyte activation

(B). Proliferation, Migration

(C). Endothelial Dysfunction

(D). Form cell formation

Choose the correct answer from the options given below:

1.(D), (C), (A), (B)

2.(C), (D), (A), (B)
3.(A), (D), (C), (B)

4 (B), (A), (C), (D)

(
(

Options :

878270168373. 1
878270168374. 2
878270168375. 3

878270168376. 4

Question Number : 59 Question Id : 87827042874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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Td feu e fgwedl § 9 981 S| .

1. (D), (C), (A), (B
2. (C), (D), (A), (B
3. (A), (D), (C), (B
4.(B), (A), (C), (D

)
)
)
)
Options :
878270168373. 1
878270168374. 2

878270168375. 3

878270168376. 4

Question Number : 60 Question Id : 87827042875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Acute subdural haematoma has following features

(A). Blood is of venous origin

(B). Accumulated blood is in liquid form

(C). No significant compression of gyri

(D). Symptoms develop slowly

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (C) and (D) only
4 (C)and (D) only

Options :

878270168377. 1
878270168378. 2
878270168379. 3

878270168380. 4

Question Number : 60 Question Id : 87827042875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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-t fau U fadedl & ¥ 981 IR -

1.%ad (A), (B) IR (D)
2 ®ad (A), (B) 3R (C)
3. @4d (A), (C) 3R (D)
4 &dd (C) 3R (D)

Options :

878270168377. 1
878270168378. 2
878270168379. 3

878270168380. 4

Question Number : 61 Question Id : 87827042876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Effects of nitrates and calcium channel blockers in angina pectoris
(A). Decrease in heart rate

(B). Decrease in arterial pressure

(C). Increase in End-diastolic volume

(D). Increase Ejection time

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A), (B) and (C) only.
3. (A), (B) and (D) only.
4. (B) and (C) only.

Options :

878270168381. 1
878270168382. 2
878270168383. 3
878270168384. 4

Question Number : 61 Question Id : 87827042876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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r

(A) Tad 7T | 41

(B) ¥Mfaf & Gad H HHI

(C) S-SRI AT H gl

(D) P T H afS

-t fau U fadedl & ¥ 981 IR -

1.%ad (A) 3R (B)
2 ®ad (A), (B) 3R (C)
3. ®ad (A), (B) AR (D)
4. ®4dd (B) AR (C)

Options :

878270168381. 1
878270168382. 2
878270168383. 3

878270168384. 4

Question Number : 62 Question Id : 87827042877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Pharmacological properties of inhaled anesthetics. Match List-| (Anesthetic agents) with List-Il (Blood:Gas partition
coefficient)

List- List-I

Anesthetic agenis  Blood:Gas partition coefficient
(A). Nitrous Oxide (1). 2.30

(B). Sevoflurane |(I1). 1.40

(C). Isoflurane  (IIl). 0.47

(D). Halothane (V). 0.69

Choose the correct answer from the options given below:

1.(A)- (1), (B) - 1), (C) - (N}, (D) - (IV)

2.(A)-(1), (B (lll) G)- (I, (D)- (V)

3. (A)- (), (B)- (1), (C) - (IV), (D) - (I

4.(A)- (), ( ) (V). ©)-(), (0)- ()
Options :

878270168385. 1
878270168386. 2
878270168387. 3

878270168388. 4

Question Number : 62 Question Id : 87827042877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~
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IREGED e 18 T Ui
(A) T SfiaEs|(1) 2. 30

(B)FRE  |(1)1.40

(C) AR {(I1) 0. 47

(D) &aIA (IV) 0. 69

R e B foarterd

1. (A
2 (A
3 (A
4 (A

1), (B)-(II), (C)- (IN), (D)- (V)
), (B)- |||}() (), (D)- (V)
1), (B)- (1), (C)- (V), (D) - (Il
Il) (B)- (w) (C)-(II), (D)- (1)

)-(
)-(
) -l
)-(lll
Options:

878270168385. 1
878270168386. 2
878270168387. 3

878270168388. 4

Question Number : 63 Question Id : 87827042878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegedunias

~



Match List-1 (Anti-cancer agent) with List-1l (Cell cycle effects)

List-|

List-ll

Anti-cancer agent

Cell cycle effects

(A). Gemcitabine

(1. G2 - M Phase

(B). Etoposide

(II). 5 Phase

(C). Docetaxel

(Ill). G1 - S Phase

(D). Bleomycin

(IV). M Phase

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (IV), (B) - (1), (C) - (11), (D) - (1)

3. (A) - (1), (B) - (I11), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270168389. 1
878270168390. 2
878270168391. 3

878270168392. 4

Question Number : 63 Question Id : 87827042878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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kDm‘i—Eﬂ@ﬂEﬁq—' (V) TH 9

T o T e § 9 T SR -

1. (A) - (1), (B) - (1), (C) - (1l1}, (D) - (IV)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
4 (A) - (I}, (B) - (IV), (C) - (1), (D) - (1)

Options:

878270168389. 1
878270168390. 2
878270168391. 3

878270168392. 4

Question Number : 64 Question Id : 87827042879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias

~



Match List-l with List-l|

List-|

List-lf

Homnone

Disorder

(A). Growth Hormone

(). Pheochromocytoma

(B). Antidiuretic Hormone

(II). Grave's Disease

(C). T3 and T,

(lI1). Acromegaly

(D). Adrenaline

{IV). Diabetes Insipidus

Choose the correct answer from the options given below:

1. (A) - (ln), (B) - (IV), (C) -

2. (A) - (Iy, (B) - (1), (C) -

3. (A) - (1), (B) - (IV), (C) -

4. (A) - (), (B) - (1), (C) -
Options :

878270168393. 1
878270168394. 2
878270168395. 3
878270168396. 4

(), (D) - (1)
(V). (D) - (1)
(11}, (D) - (11}
(IV}), (D) - (11)

Question Number : 64 Question Id : 87827042879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@collegedunias
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(B) UtsTsgiea smH|(1I) 3a T
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1..(A) - (1), (B) - (IV), (C) - (II), (D) - (1)
2. (A) - (I}, (B) - (1), (C) - (IV), (D) - ()
3. (A) - (), (B) - (IV), (C) - (In), (D) - (1lT)
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options:

878270168393. 1
878270168394. 2
878270168395. 3

878270168396. 4

Question Number : 65 Question Id : 87827042880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandarac is resin obtained from the stem of

1. Grindelia camporum
2. Pistacica lentiscus

3. Tetraclinis articulata
4 Guaiacum officinale

Options :
878270168397. 1

878270168398. 2 @collegedunias

878270168399. 3 N



878270168400. 4

Question Number : 65 Question Id : 87827042880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @ - 4 U el §
1. RBiSTermn seRe

2. o dfcend

3. celfqay Hifdpde

4. T[HEHH MBI

Options :

878270168397. 1
878270168398. 2
878270168399. 3
878270168400. 4

Question Number : 66 Question Id : 87827042881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nominated members of Drugs Technical Advisory Board are

T s e e
o =~

©n

Options :
878270168401. 1
878270168402. 2 gcollegedunias

~

878270168403. 3



878270168404. 4

Question Number : 66 Question Id : 87827042881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay dF® SoReRds d HAAd e 5
18
2.7.
3.6.
4.5.
Options :

878270168401. 1
878270168402. 2
878270168403. 3

878270168404. 4

Question Number : 67 Question Id : 87827042882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the characterstics of tannins except

. Tannins are colloidal solutions with water

- Small molecular weight are soluble in water

- Molecular weight ranges from 250-400

. Can bind with proteins and form insoluble or soluble tannin-protein complexes

B A B e

Options :
878270168405. 1

878270168406. 2 ,
collegedunia:
878270168407. 3 <



878270168408. 4

Question Number : 67 Question Id : 87827042882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P! BlsH?, AW gHi ¢ ot fagwant &

1. ¢ Ul & I Dicigsa Ui g

2. BI¢ HUIfdd YR U H geHeiia 8id 21

3. HI0Tfa® YR 250-400 &Il &

4. T & T1Y §Y9 B Gavd & SR SHLCHRINT J1 geHRiTd SH-IeH DIRcidd &1 dd g

Options :

878270168405. 1
878270168406. 2
878270168407. 3

878270168408. 4

Question Number : 68 Question Id : 87827042883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ldentify chemical constituent of Nutmeg

1. Ellimicin
2. Citral

3. Piperine
4 Curcumin

Options :
878270168409. 1

878270168410. 2 gcollegedunias
878270168411. 3 )



878270168412. 4

Question Number : 68 Question Id : 87827042883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b & NG9S g DI UgdH HY

‘]_ JFHI;_::I i] ih—
2. [Hcd
3 OI3UiRA

4. DIFHA

Options :

878270168409. 1
878270168410. 2
878270168411. 3
878270168412. 4

Question Number : 69 Question Id : 87827042884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Straw foxglove Is also known as

1. Digitalis lanata
2. Digitalis lutea

3. Digitalis thapsi
4 Digitalis dubia

Options :
878270168413. 1

878270168414, 2 ,
collegedunia:
878270168415. 3 <



878270168416. 4

Question Number : 69 Question Id : 87827042884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bt it

1 BIRCia Bl & &g H Hi o1 91 &

feforeicig c-ier
fsforeferg egfea
fefaeferg g;@ﬂ"

o L I

Options :

878270168413. 1
878270168414. 2
878270168415. 3
878270168416. 4

Question Number : 70 Question Id : 87827042885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following statements are true for tetanus toxoid except

1. It is indicated for routine immunization in all children and adults

2. It is indicated for routine immunization in only children

3. It is formaline treated exotoxin of tetanus bacill

4 Booster dose should be given after 1 year and then every 10 years.

Options :
878270168417. 1

878270168418. 2 ,
collegedunia:
878270168419. 3 4



878270168420. 4

Question Number : 70 Question Id : 87827042885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafEd # 9 oaa P BI5HL WY §I YA ¢oTH TRIES B [0 Fal 3|
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3. Og dc1d dicll &1 BiETaE SugiNg tadrelaad g

4 G GUD 1 9Id & 916 3R T g2 10 9id H ¢l Sl 91

Options :

878270168417. 1
878270168418. 2
878270168419. 3

878270168420. 4

Question Number : 71 Question Id : 87827042886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the right plant growth regulator used for cell elongation and are agronomically important in determining plant height
and fruit set

1. Auxins

2. Gibberellins
3. Abscisic acid
4. Ethylene

Options :

878270168421. 1 gcollegeduniag

~



878270168422. 2
878270168423. 3

878270168424. 4

Question Number : 71 Question Id : 87827042886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270168421. 1
878270168422. 2
878270168423. 3
878270168424. 4

Question Number : 72 Question Id : 87827042887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Process of shodhana can be performed using fluids

(A). Triphalakasaya

(B) Vasapatra svarasa

(C). Nirgundi patra svarasa with haridra churna

(D). Gomutra

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270168425. 1
878270168426. 2
878270168427.3

878270168428. 4

Question Number : 72 Question Id : 87827042887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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1.%ad (A), (B) IR (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270168425. 1
878270168426. 2
878270168427.3

878270168428. 4

Question Number : 73 Question Id : 87827042888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Biosynthesis of atropine take place in following sequence
(A). Tropine+Tropic acid

(B). Tropic acid

(C).Phenyl pyruvic acid

(D).Phenylalanine

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
(A).

)

)

),
2. (D), (B), (C). (
3. (D), (C), (B), (A).
4 (C), (B), (D), (A).

Options :

878270168429. 1
878270168430. 2
878270168431. 3

878270168432. 4

Question Number : 73 Question Id : 87827042888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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Options :

878270168429. 1
878270168430. 2
878270168431. 3

878270168432. 4

Question Number : 74 Question Id : 87827042889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List-I with List-ll

List-| List-ll

Schedule Provisions

(A). F1- Part [A((1). Provisions applicable to the manufacture and standardisation of diagnostic agents

(B).F1-Part IB ((I1). Provisions applicable to the production of sera from living animals

(C). F1-Part Il ((1Il). Provisions applicable to the production of bacterial vaccines

(D). F1- Part lI1|(IV).Provisions applicable to the production of viral vaccines

Choose the correct answer from the options given below:

1.(A)- (1), (B) - (1), (G) - (), (D) - (V)

2.(A)- (1), (B) - (I, (C)- (1), (D) - (IV)

3. (A)- (1), (B) - (V), (C) - (), (D) - (1

4.A) - (Ili), (B) - (), (G) - V), (D) - (1)
Options :

878270168433. 1
878270168434. 2
878270168435. 3

878270168436. 4

Question Number : 74 Question Id : 87827042889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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G-l &1 Il & 91y feaE she

- 11|

Sl s

(A) TH1-HTT 1A|(1) AeTFe sifimts! & Hai SR A6 R ar] as=
(B) FA-HFTIB  |(I1) oitfae U=[31i & TR & Sede W TR 7ayr

(C) F1-4FTI | St St & Sare 3 &g ar Jay=

(D) FA-HTT Il |(IV) STERa Sidl & SdTe & [og TF] Iiay=

R e E R

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
3. (A) - (i), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (lin), (B) - (IN), (C) - (IV), (D) - ()

Options :

878270168433. 1
878270168434. 2
878270168435. 3

878270168436. 4

Question Number : 75 Question Id : 87827042890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List-l with List-l|

List-|

List-1I

Chemical Test

End point

(A).Liebermann -Burchard test

(). Pink colour

(B).Salkowski test

(1. Violet colour

(C). Zimmermann test

(111} Yellow coloured ring

(D). Antimony trichlonde test

(IV) Violet to blue coloured ring

Choose the correct answer fro

1. (A) -
2. (A)-
3. (A) -
4 (A)-

IV), (B) - (1), (C) - (1), (
1), (B) - (1), (C)- (1), (D

1), (B) - (1), (C) - (IV), (

(
(
(1), (

(IV), (B) - (llT), (C) - (1), (
Options :

878270168437. 1
878270168438. 2
878270168439. 3

878270168440. 4

m the options given below:
D) - (1)
) - (IV)

D) - (1)
D) - (1)

Question Number : 75 Question Id : 87827042890 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Il-| &1 il & Ty e sRe

-l s lA |

TR SRI& 3ifeH foig

(A) Feraraa-sis ofwem (1) T T

(B) TTehTo6s! TIaT BELsIET

(
(C) Toaa Titam () diw &7 =t ger
(D) TS SIS aRIRIS S W& (1v) ST 8 e T %t aom

S R T Ee R

1.(A) - (IV), (B) - (11}, (C) - (IlT), (D) - (I)
2. (A) - (lln), (B) - (1IN, (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Options :

878270168437. 1
878270168438. 2
878270168439. 3

878270168440. 4
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